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qrerfiardr IAT / Guidelines for the Candidate
1. NI AET g GRETT AR 3T il Hledr TTEl hee] EITdl.

Check to make sure that you have received the appropriate answer sheet of your name and roll
number.

2. YReT ge groargdl fdemedien carear dqut At @l #oarErd 30 A 3ifte de quard
A,

You will get additional 30 minutes to check and make sure about the information about yourself on
the Answer Sheet before the start of the exam.

3. WX YRAYfEAh ALY THUT 100 YR 3T Ycdeh TRATATST 2 I[OT 37e .
This question booklet contains 100 questions each question carries 2 marks.

4. |4 9% WSAUITETS ITe. FehredT 3TIege HA@Teledl UM SIS PR I[OT TS Shel
SAMUIR TSN
All questions are compulsory. There is no negative marking.

5. 3Ucare qEITEl YA Aol Tl del egrdY.

Check to make sure that you have received the appropriate test booklet for your standard.
6. TIAAALY Hdd Thd 3o SRR 3. SRR ITRTATSY Thd 9Ty fAasrar.
There is only one correct answer. Choose only one option for an answer.

7. 3OUET 9T EIAUATATS! hadd Hadl/ Aol AT dieideTa araRrdr.

To mark your choice of answers by darkening the circles in the Answer Sheet, use a Blue/Black Ball,

Pen only. Eg. -
Q. x : - Fill in the blanks Visit www.rtsexam.com for Answer key after 8 days

My father went.........cccecvvveeiuvrnnee To buy some milk.
a) there b) their c) They're d) here

As the correct answer is option a) you must darken the circle corresponding Q. x ‘ @ @

To option a) in the Answer Sheet
8. URET HUCATEX JHH SoRUTIT qAAeTehehs TR .
Return the Answer Sheet to the invigilator at the end of the exam.

9. 3MMUedT IRET HATH TRAYRdHAR FeaT foIgTdl T HeX TRAYEART TRET HreMathiedcR 3HTedT Fead .

Write your Roll No. on the Question Paper too and take it home for future reference.




10.

Fill in the blank with suitable preposition:
The cow was standing the tree.
A) From B) For C) with

Change the active voice into passive voice:
What does Sanay eat?

A) What is eating by sanay?

B) What is eats by sanay?

C) What is ate by sanay?

D) What is eaten by sanay?

Choose the correct adjective from the options given below:
People think you are really stupid.
A) Little B) Less C) Some

Choose the wrongly spelt word from the options given below.

A) Triangle B) Telescope C) Telivision

Identify the kind of Noun:
Restaurant
A) Proper noun B) Common noun C) Material noun

Make meaningful word from jumbled letters:
LYXEERTME
A) Etrexemly B) Extremlye C) Extremely

Fill in the blank with correct form of verb given in the bracket.

Nothing like this has before. (happen)
A) happen B)happens C) happening

Pick out the best synonym of the given word.
Transparency
A) openness B) opacity C) spread

TToTTUhT 3Tehddal Qe 3DET.
A) TGS B) AT C) AT

HTellel drFgraT AT ha olrdl.

¢, T feael o e adr.

R. T g Adeh=urar AT 3R,

3. doledTel Solrdl fARaus Hredrd.

Y. AT ATGEAT g1 fead WNedl FUIA ATSRT el
A)4,2,1,3 B) 4,1,2,3 C)4,1,3,2

D) under

D) Any

D) Scissors

D) Abstract noun

D) all of these

D) happened

D) utility

D) hadl

D) 1,2,3,4




11.

12.

13.

14.

15.

16.

17.

18.

IIATARIGT AT 9T 3NGET.

A) I 3973 B) T HIG@al.  C) g 3l D) IET T gl
faeeemdt ersgrar 3arrar oA fAgsr.

SeaAdll X

A) FEAT B) HeAci C) TRTTCT D) 3raeTcir

N o, o, o\ N\
Hdlcpse Tdshed TedgsT @rellel aTerd C(r\U‘r .

3TRFAT eI ATITE STell; $HRUT-

A) faet g AgAd el B) fds 3o fRISTHIAT TR Urelel el
C) Tl TU gelaTsiquT hell. D) flel 31TUel TH ddaR X ehel.

Glellel ArpyaRTaT AT 31 fHgsr.

&ar Ao -

A) 7T fAx@or  B) 391 UrsOr C) i fARaor D) dRT gr@dur

Glollel AsaT Te] Sl
SAFhel :
INGETZ ] B) #eholl C) Akl D) &ehe]

SR A=1210, B =2650 30T C=2512 310 d¥ Tlelddhl FdTd ATST T&AT HIUTAT?
A) A xB B) BxC C) AxC D) AxA

If A=1210, B=2650 and C = 2512 than which of the following is largest number?

A) A xB B) BxC C) AxC D) AxA
Greltel AT ABC HEL FHIUTBAC &T 3R,
A
5 70° 80% &
A) FTEhIT B) STE[ehIeT C) faermer &7 D) T Il
In the following triangle ABC, angle BAC is a:
A) Right angle B) acute angle C) obtuse angle D) straight angle

Grellel 3MTehcilciter Aol dear fhedr?

How many triangles are there in the following figure.

A) 8 B)9 C) 11 D)7




19.

20.

21.

22.

23.

24,

25.

26.

27.

TS 9 el AIMSTOT WIET hol. gwma GROECIERT T 180 %. ¥ Sholl d¥ Talad

eTeTUITAT Yidfehall AR fhdl . §Id hell.
A)T.10 B) T.20 C) .18 D) %.15

Raj Bought 9 kg of ground nuts. He saved Rs. 180 by using a store coupon. How much did he save

per Kg of ground nuts?

A) Rs 10 B) Rs 20 C) Rs 18 D) Rs 15
XC+ XL =

A) 120 B) 130 C) 150 D) 110
43, 29, 52, 280 43, 29, 25, 280

A) > B) < C) = D) > <

ThT AMfgAT 2530 Ve arsfdel. A-arear T g ALY SEd S 55 A ag

T, T THUT Afehicll ITSTIvATETST fohell Toh SmeTel 3r@Tad.

2530 Soldiers were sent out on a mission. Each army truck could carry a maximum of 55 soldiers.

How many army trucks were needed to carry all 2530 soldiers?
A) 47 B) 46 C) 45 D) 44

Which one of the following is a proper fraction?
4 5 3
A) 3 B) 3 C) " D)

8ol fol: QW &7eT FOTY 5 3hr FATA AS FEAT FHOTA?

Name the largest five digit number divisible by 8.
A) 99984 B) 99992 C) 99988 D) 99884

TRl TATATRY el 12 A.#T g T 7 TAT 32, X AT 83% fohal?

A) 84 TH? B) 86 THI” C) 38 HHI D) 42 HH?
The length of a rectangle is 12 cm and width is 7 cm find the area of rectangle.
A) 84 Cm? B) 86 Cm* C) 38 Cm? D) 42 Cm”*

ity . L2243
Frsar / Simplify : 9(7+14)

30 47 223 13
A3 B 3% € 126 P37

Grofer Yehr %mwﬂmW?
Ve B) = Q= D) T FATEY

52
Which of the following fractions is equivalent to o8 ?

39 25 26
A) o1 B) e Q) o D) None of these




28.

29.

30.

31.

32.

33.

34.

IR T Multiply :
0.2x0.02x2.0="?
A) 0.002 B) 0.0008 C) 0.008 D) 0.006

Grellerdehl ORI * Tegredr SiEl AUIRT RWT Tehl 3 HI0TAT?
Which same digit should replace each of the mark * in the following multiplication?
21 *
X 1 *

A) 1 B)5 C)2 D)4

8 foT 12 =IT JaIa 9 #AGa @ s Fadr?
What is the sum of LCM and HCF of 8 and 12 ?

A) 24 B) 4 C) 20 D) 28

3%. 9 fovell JATOT WA Fholell 4 fohell g 9 &. 9fd favell JATOT fasher X fohcly e
ST STeT?

A) 12 % B) 13 % C)12.5% D) I ATEr
4 Kg of rice costing Rs. 3 per Kg were sold at Rs.9 per Kg. what is the profit percent?
A)12 % B) 13 % C)12.5% D) none of these

Teh &R 265 fhAT 37X 300 AT IR sa a¥ srEr anelt a1 oy oA 3@aa?
A) arefr 52 ey B) arefr 57 farely C) arefy 50 farey D) arefr 53 feralY

To travel a distance of 265 Km a car takes 300 minutes. Find the speed in Km per hour.

A) 52 km/hour B) 57 km/hour C) 50 km/hour D) 53 km/hour
Grelerdehr Aafdier AereT FUdT HIoTcr?

A) 9eiforasr geryy  B) qroft C) @fas D) alier U |
Which one of the following is the natural resource?

A) Petroleum Product B) Water C) Minerals D) All of these

ool YeTTel FATY 3TEAT HIUTAT?

A) gar B) Tt C) agter D) g&r
Which one of the following is a solid state of matter?
A) Air B) Chair C) Petrol D) Milk




35.

36.

37.

38.

39.

40.

41.

Pl TITS SAUITHTS! HIUTAT Flboil EATAT?

A) Sl PRS Sdrad.

B) el ShIRSAT THTCIl TATS A,

C) el TITH HIUIMTS AlheR aE&] dAMIE .

D) arerdhr Ia

What precautions should we take to keep our ear in good condition?

A) Keep the ears dry B) Clean the ears with dry towel
C) Do not use sharp objects to clean your ear. D) all of these

ST AU Jald ofgled Ueheh HIuTd?

A) TR (fA#) B) HeIfACY (&)

C) fhenfaex (fhe) D) faex ()

What is the smallest measurement unit of the length?

A) Millimeter (mm)  B) Centimeter(cm)  C) Kilometer (km) D) Meter (m)
GrelleTdehl del U e HIvTaA?

A) STqH B) T{S& C) ArTeleT D) arerdehT T@a
Which one of the following is an oil yielding crop?

A) Cotton B) Castor C) Soya been D) all of these
SR €9 ATSaur FgoTerd g,

A) AT & B) Hal Hatiel C) STaTerds D) AThT ATETr
Protection of soil from erosion is known as .

A) Soil erosion B) Soil Conservation C) Deforestation D) none of these

3IeAT R AT AS ATATGH HIoTA?

A) 31 B) AT C) cgdr D) el
The biggest sense organ of our body is
A) Eye B) Nose C) Skin D) Ear

Grelloldhl IFATTHERUT JEAAT HI0TAT e g,

A) & HEES] C) T&FaaTgudr D) adrerdhr g

Which one of the following is a part of circulatory system?

A) Heart B) Blood C) Blood vessels D) all of these

T&FdeTT forar 3 dyuT g 3SR el HANRIHD Bld.
A) HicRR—IH B) g C) AT DRIFEERE

Anemia is a disease caused due to lack of .

A) Calcium B) Iron C) lodine D) Potassium




42.

43.

44,

45.

Herq HISTUITI Teheh HIUTT?

A) RRET et B) AIHRATIH  C) 9T D) TR =TT
Earthquakes are measured on .
A) Richter scale B) Barometer C) Thermometer D) none of these

TToTeTdehT IUTAT YeTdTd el JHTOT Halideh 37ad.

A) Y B) 313r C) HTT D) STadr
Which one of the following food is rich in Carbohydrate?
A) Milk B) Egg C) Rice D) Pulse

TGrellel Il JThclTl RRATATST ITAAT TR IMhcATHEA Ve,

Find the mirror image of the given question figure from the answer figures.
W 3MTehell / Question Figure

3aX 3T / Answer Figures

A) B) Q) D)

Grellel 92T 3MThc qTodTclel FfAfds 3T 3TehcaraeT Qe

Find the water image of the question figure from the answer figures
RG] 3-TIT=‘|3_(-ﬁ' / Question Figure




46.

47.

48.

49.

Grellel 3MhcTHEY UigedT JHeheirdl ST IThcIl SIET HaY Mg 3FET oard Heer

o= 3mehciren & geaAIegTear Selt JUIAT 3Mehcil 318, § &I 83l JeeATdegred
STty AUTRY 3TehcT fAasT.

There is certain relationship between the pair of figures on the either side of :: identify the
relationship and find the missing figure.

~J

A)

D)

HTehcliatl 35T g YeaTdegrear SE VT H&AT AasT.

Identify the pattern and find out the missing character at the place of question mark.
5 ‘ ) T i i 5 6 ‘ 4
4 6 b
A) 25 B) 37 C) 41 D) 47

T &1 SHOTRY 3ehcll AET,

Find the odd man out.

- %, - o

A) B) C) D)

UR&T 3MTehcl U7 FUATAIST YeaATdegrearanel AU 36X 3Mehell foiasr.

Which of the following figures will complete the question figure?
9T 3-TIT=IQ_<-ﬁ / Question Figure




50.

51.

52.

53.

54,

3 3TTehcAT / Answer Figure

A) B) C)

Greltel 3MTehcliciel TRAT TeHoT FEAT fohef?

Count the numbers of squares in the given figure.

A) 8 B) 11 C)10

MR, 3wl T TG Jredl HEfloT HY elledehl HIUTcAT HTeharedl HEdlel eyl

gofaar s

Which one of the following Venn diagrams correctly illustrates the relationship among the classes :

carrot, food and vegetable?

0O ,09 O

UohT Hlohicleh HTNA BACK &T 2UsG CBDL 37dT Toifgdid, dXHAND 8T 2feg <ITd HINA Hdr

D)

D)9

» (D O

D) GBOC

forgrar.

A) GMBC B) IBME C) IBOE

If ‘BACK’ is coded as ‘CBDL’ then ‘HAND’ will be coded as
A) GMBC B) IBME C) IBOE

poT: >< @ T TOP =?
Nn<®> 5 <>@® o< ><

POT : ><© then TOP =7
Nn<®> g <>@® o<><

Qrellel HEITATCICS Tehrd T 0T,

Find odd man out from the following number series.
16, 25, 63, 49, 100, 81

A) 49 B) 63 C) 25

D) GBOC

p @< >

p) @< >

D) 81




55.

56.

57.

58.

59.

el TEITATIT 92 Riegrear Sl Aoy g&ar Siord?

Which number will replace (?) in the number series below?

2®@2e068(

A) 63 B) 75 C) 121

Grell feeiear rsarer 3rquT e oraT:

1. IR 2. SRaET 3. Jcg.

5. ool YA HAIAT

A)2,3,45,1 B) 3,4,2,5,1 C)4,1,2,5,3
Arrange the given words in a meaningful sequence.

1. Poverty 2.Population 3.Death

5. Lack of food

A)2,3,45,1 B) 3,4,2,5,1 C)4,1,2,5,3

geARIeg=ar ARl A AURT [eg HIoTdr?

D) 109

4. SISTIRY

D) 2,4,1,5,3

4.Unemployed

D) 2,4,1,5,3

Which symbols will replace the question mark in the series given below.

ANO LA ?[1?20LAO

a A 5 OA g O

S4=20,6=42,8=72,d710=">
IF4=20,6=42,8=72,then 10 ="?
A) 101 B) 120 C) 110

A\S,

D) 90

X' T 3MTehcll &&r o7 FoATATST Rebrear Seft g2 il A9 3Mehct fAasT.

Select a figure from the options, which when placed in the blank space of fig.(x) would complete

the pattern.
W 3MTeheil / Question Figure

3 3TThcAT / Answer Figures

¥ N K

A) B) C)




60.

61.

62.

63.

64.

65.

Grelledehl HIVTAT s Wlell TeledT Aealciel GRS TIR B =Te.

Which word cannot be made from the letters of the given word?

INTELLIGENT

A) INTEL B) GENTLE C) HILT D) ELITE
FJofR=r et AS g

A) TITSTHIESIIA  B) CelaRAT C) BIIIRIAT D) 3iRferr

Malaria disease is caused by

A) Plasmodium B) Planaria C) Filarial D) Aurelia

URe I HE ddllcdd SHUTRT 3ehell G fdsT @ wlepled daN &,

Select a figure from the given options which fits exactly into question figure to form a complete
square.

W 3Tehcil / Question Figure

3 AThcar | Answer Figures
A) B) C) D)

wee FRIegredn SRl Jm=ar §&ar adande foasT.

Find the missing numbers at the place of question mark?

A)6, 9 B)9, 8 C)9, 0 D) 8,9
HITATIgCTdT Sie s a7 TSROl Srer?

A) FSTAH B) GTeeliga C) HiearEd] D) offe=ir
Lord Buddha was born in a place called

A) Kundalgram B) Patliputra C) Kapilavastu D) Lumbiani

GTSTBIe TN TeairedT TS T AT FUilet dlsiHgel STHell Iiedl Teard &1d
S gd?

A) HAHATST Hgel B) ?-IQIElEUI C)Gllillalé D)?!lTvlTeI'c'\?-f CEIP=
Shah Jahan built the famous Taj Mahal at Agra in the memory of his wife? What was her name?
A) Mumtaz Mahal  B) Nurjahan C) Jodha Bai D) Gulbadan Begum

10

——
| —



66.

67.

68.

69.

70.

71.

72.

gSTUT HEhcH IS TEUT 3Mec?

A) FIRAY B) USTTel C) Hel Tl D) thaeTTeTg

Where is the Harappa archaeological site located?

A) Kashmir B) Punjab C) Multan D) Faisalabad

ey Aear @rara faswfad greler AR dEhdr 1 AT HsEel
.

A) HRCAT TR B) 3T HEhcll

C) §STAT HERT D) &fas HEhelr

The mature phase of Indus Valley civilization is known as

A) Indian Civilization B) Aryans Civilization

C) Harappan Civilization D) Dravidian Civilization

AT ATHTSIATIT TATIAT IO holl?

A) THTST HERTST B) QUETS sl HIEer
C) TSTRTH D) farslt AR
Who founded the Maratha Kingdom?

A) Sambhaji Maharaj B) Shahaji Raje Bhosle
C) Rajaram D) Shivaji Maharaj

GrellerdahT AT gl T 8T g g gdfaa.

Which one of the following symbols represents no horn zone?

BRSO

GToleTdhT HIUTAT YTUATT AR 91T 31T dTd.

A) GRS B) @19 C) AT D) HATAT
Which one of the following animal has four legs?
A) Pigeon B) Snake C) Dog D) Fish

A& TGUT el A,

A) TY. TS0 B) Ter.TY. 5. C) ST D) gl @a
Pollution can be checked by the use of :
A) CNG B) LPG C) Bio Gas D) all of these

el T sifds g Hioran?
A) TAETA B) 9TOfY C) STt D) gaT

11
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73.

74.

75.

76.

77.

78.

79.

80.

Which one of the following is a biotic component of the environment?
A) Plant B) water C) Land D) Air

Tl BY AN Jelolell JTATI?

A) AT B) ST§[ C) 9T gret D) a{ierdhraa
Kachcha houses are made of :

A) Mud B) Bamboo C) Palm leaves D) all of these
SATCTHEIIA STeY ISUIAT &d FerdTel FEOTATd.

A) ITSgT B) HIAT C) grofY D) Uclel

The liquid which comes out of a volcano is called:

A) Lava B) Magma C) Water D) Petrol
39T GIATCIT THOT fohell T 3MRA?

How many planets are there in our solar systems?

A) 6 B) 2 C) 8 D)7

Glelloldhl IV SHaeddcd 3TTell g8 HUET SoIdd?

A) & STaadca B) 3 Sfidaidcd C) § Saadca D) a{ier YT I

Which one of the following vitamins strengthens our bones?

A) Vitamin C B) Vitamin D C) Vitamin E D) All of these
fRATedia & gce 3.

A) 9TOTT B) §add C) Tk D) AT

Hemoglobin is present in?

A) Water B) Air C) Blood D) Soil

HATS GATSCHAT 10T 37A?

A)QUAT TRIST  B) 30T Sicell C) g AIE D) HAlEY Wi
Who is the external affairs minister of india?
A) Sushma Swaraj B) Arun Jetly C) Narendra Modi D) Manohar Parrikar

gfaere e et O el STar.
A) 28 ths[arY B) 26 STTANT C) 26 Flegs} D) 26 3{TaTSc

Constitution day is celebrated on?

A) 28 February B) 26 January C) 26 November D) 26 August
3TRIES AT ST HIOTAT?

A) TEAS SECIHEIC C) SEXTeeT D) Tt
Capital of Uttrakhand is?

A) Lacknow B) Allahabad C) Dehradun D) Ranchi

12
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81.

82.

83.

84.

85.

86.

87.

88.

¥ & 3R,

A) ART B) U& C) EHh D) STE[3TE
Sunisa ?
A) Star B) Planet C) Comet D) Asteroid

HRATT THUT fhcdl I 3med?
Total number of states in India are?
A) 30 B) 28 C) 29 D) 27

G UG & WIS HIoTeAT Wl Hferd 31g?
A) HiSegey B) fshehe C) et D) dsffea

Narsingh Yadav is associated with which sport?

A) Boxing B) Cricket C) Wrestling D) Badminton

Ffeau@ ar qo{-deblt] s HIUT?

A) TUIST 37sgel Fhelld B) STATEITT og®
C) e amef D) IdeT Trer

Who is the author of the book — Wings of fire?

A) APJ Abdul Kalam B) Jawaharlal Nehru
C) Indira Gandhi D) Ratan Tata

e FEapciicilel 2AERICTer Wllehiall TTeTeTdehT SHIUTCAT UTIaSAT AT wege .

A) afs B) fargr C) g D) &hfAet
Which of these metals is not known to people lived in Indus valley cities?
A) Cooper B) Lead C) Iron D)Tin

IMeTHs IRYE IS HIT BIdr?

A) S B) fereaiy C) oiseT D) Ges
Where was the Round Table Conference held?
A) Mumbai B) Delhi C) London D) Dubai

‘Tell feeall’ a1 aRT ol f&ar?

A) TG S B) 3Rfdg @Iy

C) TH.&. el NEEGIEE

“Delhi Chalo” — whose slogan was this?

A) Subhash Chandra Bose B) Aurobindo Ghosh
C) M.K.Gandhi D) Bhagat Singh

SfOR—ITTaTer SRl TRaY MAER FHUATET 31T Hiofr fear?

A) STllel SR B) Al~eTY
C) R—IHAT SR D) foreg TR

[ =)



89.

90.

91.

92.

93.

94.

95.

Who ordered firing on the public meeting in Jallianwala Bagh?
A) General Dyre B) Mr.Monteague
C) Simon Commission D) Cripps Mission

HEIeT TBIBI Sfeleh IVl Fgel SiTcl?

A) eI B) STATgellel sig® C) faaiiem Hra D) 3{UUTT IR
Who is called the father of the Bhoodan movement?
A) Gandhiji B) Jawaharlal Nehru C) Vinobha Bhave D) Anna Hajare

GrelleldehT HIOTAT T HeTeAT SIS Pt el fAfgelem ATEN?

A) AcTeh=aTaT TS B) ATdSIfeieh HcTUH

C) STFBUIY e NEREEGIGIGRIZEI

Which one of the following books is not written by Mahatma Jyotiba Phule?
A) Shetkaryacha Aasud B) Sarvajanik Satyadharma

C) Brahmananche Kasab D) Mahabharatatil Striya

AT STeTaT UTEld 37eT8T HIuT g ?
A) g ASr B) 31fAT 2raT C) STl BATISH D) 2R YA

Who is the president of Bharatiya Janta Party?
A) Narendra Modi B) Amit Shaha C) Gorge Fernandis D) Sharad Pawar

TIGN'IT%niHleoﬂﬁ A oAd HrI?

A) TEATT B) fIarsikta C) J[OTdeRTE D) IdTRId
What is the original name of Rajarshi shahu maharaj?
A) Yashwantrao B) Shivajirao C) Gunwantrao D) Prataprao

Greioldehr 3 et gaTadr Hordr?

INEEGE] HEICIC) C) e D) Irdd
Which one of the following is herb?
A) Neem B) Rose C) Lemon D) Grass

Greordhr FHemer JfRse 3 3r9ar.

A) T B)&d C) ary, D) ITT ATEY
Which one of the following has definite shape?
A) Solid B) Liquid C) Air D) None of these

rolTeTdehl hioTear foleedrd @idsl H9T faqer 3me?

A) qOT B) TaqX OKIE D) ETeTX
Which of the following districts has abundant mineral resources?
A)Pune B) Chandrapur C) Beed D) Solapur

14
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96.

97.

98.

99.

100.

SIferdr SR &1 Ueh Yidey e,
A) THATSTHTIRT SRIEGEL C) 99PR

Lalita Babar is a famous

A) Social Worker B) Film Actor C) Journalist
gddre 3ffegeera gAToT fhdr 318?

How much % of oxygen is there in the air?

A) 78 % B) 21 % C)1%

g1 AR TSI WS 318 ?

A) BlehT B) fohehe C) FHagar
Indian National Game is
A) Hocky B) Cricket C) Kabbadi

FRICIMT AT H1T FETdar?
A) I ATl HIYSITT YTeled 1A
B) AT ShIET YTAIAT

C) SIICATIETT HIS HIUNGT ATer
D) alerdehr Ia

What is the “Rule of law” ?

A) Every —one must follow the law
B) Leaders must obey the law

C) No one is above the law
D) all of these

D) a5

D) Sports personality

D) 20%

DNEELLG

D) Badminton

D) 7%

D) Jupiter

HIOTAT 6 FATeAT Hald ST 3Tg?

A) &1 B) Teler C) g

Which planet is the closest to the sun?

A) Mercury B) Pluto C) Earth
( )|
Lt =)



